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Name: Date:

Use the words below to fill in the blank spaces.

2. Susan weighs fifty

1. Peter is one hundred and forty tall.

3. Richard is heavier than Yoyo. He weighs

4. Doris is very tall. She is two tall.

5. Last year I was one hundred and twenty centimetres

Body & Sentence Gap Fill

tall, one hundred and fifty centimetres, was, heavy, metres, centimetres, kilogrammes, ninety.

kilogrammes.

6. This year I am tall.
7. How are you? I'm 65 Kg.

8. How are you? I'm 175¢cm tall.

9. Lisa 50 kg last year.
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Teacher's answers

1. Peter is one hundred and forty centimetres tall.

2. Susan weighs fifty kilogrammes.

3. Richard is heavier than Yoyo. He weighs ninety kilogrammes.

4. Doris is very tall. She is Two metres tall.

5. Last year I was one hundred and twenty centimetres tall.

6. This year I am one hundred and fifty centimetres tall.

7. How heavy are you? I'm 65 kg.

8. How tall are you? I'm 175cm tall.

9. Lisa was 50 kg last year.
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